1. THMSEELYTE BER

(B4 FH)
X %

A % B % A-B %
= & & SH3EE [Hektt| S2EE | MRtk b & GBS
— & = &t 375,000,000]  56.5| 365,100,000/ 56.0 9,900,000 2.7
¥ Al = &t 208,651,712]  31.4| 204,907871| 315 3,743,841 1.8
| ERBEERIEEE 78,340876| 118 78,873,803] 12.1| A 532927 A 0.7
2 BFRFERELESERNEERET 170,000 0.0 180,000 00| A 10,000 A 56
3 MERIREE 64,678,133 9.7] 63,569,820 9.8 1,108,313 1.7
4 BREISHKEERRET 10,060,119 15 9,691,059 15 369,060 3.8
5 BEERBKEEXRE 370,270 0.1 389,744 0.1 A 19474 A 50
6 EXREESRE 3,508,000 0.5 3,508,000 0.5 0.0
7 SR ERE 12,509,056 1.9] 12,081,942 1.8 427,114 3.5
8 NHAMETIMEEERE 101,108 0.0 103,171 0.0 A 2063 A 20
9 BEABRA T REEEBEESE 0.0 442,276 0.1] A 442276| 58
10 HEARH R Tt REFEIRE X RET 331,555 0.1 393,684 0.1 A 62,129( A 158
N BFEEREERE 114,600 0.0 118,100 0.0 A 3500 A 30
12 MEEERE 38,467,995 58| 35,556,272 5.5 2,911,723 8.2
—BRE-HRIRET & & 583,651,712] 87.9] 570,007,871 87.5| 13,643,841 2.4
tERE 80,492271| 12.1] 81,190,067 125 A 697,796] A 0.9
1 wREERE 16,749,032 25 16,702,327 2.6 46,705 0.3
2 KEEERE 20,913,379 3.2[ 20,320,029 3.1 593,350 2.9
3 FTKREEXRE 39,277,352 59| 40,780,803 6.3 A 1503451 A 37
4 TERKESERE 8,176 0.0 7,308 0.0 868 11.9
5 BEERE 3,544,332 0.5 3,379,600 0.5 164,732 4.9
%W 5 664,143,983] 100.0] 651,197,938 100.0[ 12,946,045 2.0




